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NEW
2015
Part II 3-Tier

ECONOMIC PRINCIPLES AND
ECONOMIC PROBLEMS OF INDIA

PAPER—V
(Honours & General)
Full Marks : 100

Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in thetr
own words as far as practicable.

Hlustrate the answers wherever necessary.

Group—A
{ Economic Principles)
{ Marks--—-45 ]

1. Answer any two questions of the following : . 3X2

{a) Explain the law of Diminishing Marginal Utility.

(Tum Quer)



(b) Mention two basic differences between Capitalist
Economic System & Socialist Economic System. = A

(¢) Distinguish between Economic Growth and Economic
Development.

(d) Define Gross Domestic Product {GDP) & Gross
National Product (GNP).

2. Answer any three questions from the following ;o 8x3

(a) Define income elasticity of demand. What can we
know from its sign ? How would you measure income
elasticity of demand at any point on the income-
demand curve ?

2+1+5

{(b) Prove the law of demand using Marshallian approach.
What is Giffen good ?
6+2

{c) Derive the short-run supply curve of firm operating
in a perfectly competitive market.

8
,I
(d) Define National Income. Explain any one method of .
measuring National Income of an economy. -
2+6
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{e) How do Commercial Banks make multiple expansion
of credit? Mention two major limitations of this

analysis. _
6+2

() Mention different motives of demand for rﬁoney.
Discuss briefly the open market operations of a

Central Bank, ‘
2+6

3. Answer any one question from the following : 15x%1

(a) Define Monopoly. Mention some cases where monopoly
may arise. How will a monopolist firm determine its

equilibrium price and equilibrium output ?
2+4+9

(b) What is investment multiplier ? What is accelerator
theory of investment ?
Briefly discuss the quantity theory of money.

‘Distinguish between cost-push inflation & demand-

pull inflation.
2+3+7+4
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Group—B
(Economic Problems of India)
[ Marks—45 ]

4. Answer any two questions from the following : 3x2
(a) Mention some features of Indian Economy.

(b) What is Land Reform ?

(c) Write your comment on the performance of public

sector in India in recent years.

- {d) What is vicious cycle of poverty ?
. ) ‘—
5. Answer any three questions from the following : 8x3

(a) Describe the major achievements of Indian plans.
What are their main failures ? 4+4

(b) Discuss about the pattern and trend of National
Income in the post 1990 era. 8

fc} Write your view about the relation between population
growth and economic development in case of India.
8

{d} Mention the problems of agricuitural marketing in

India. What measures may be adopted to remove
these problems? 4+4
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(e) Briefly analyse the industrial policy undertaken in
1091 by the Government of India. 8

(f) Discuss the problem of black money in India’. What
measures have been adopted by the government of
India to control black money? 3+5

6. Answer any one question from the following : : 15X1

(a) How ca-n you address the problem of ineqality in the
distribution of National Income ?

Briefly discuss the measures taken by our policy

makers to remove poverty from our country.
7+8

(b) (i) Describe the measures adopted by the
government of India to remove deficit in the
balance of payments in recent years.

(i) Discuss the role of World Bank in the process of

economic development of India.
' 8+7

[Internal assessment — 10 marks]
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